Expansionary Monetary Policy

For this example, assume the following:


mDD (required reserve ratio) = 10%


MB (monetary base) = $100 

In this example, I am the sole holder of the monetary base in this economy.  That is, there is one $100 bill in existence.  The Fed gave it to me and I deposited it in my checking account.  The bank now holds that $100 in its vault.  

Of course, because I have $100 deposited in the bank, M1 is actually higher.

In this example, the deposit multiplier = 1/.1 = 10.  So, in fact, M1 is actually equal to 10*$100 or $1,000.

Now, assume, for whatever reason, that this is just not enough money in the eyes of the Fed.   Alan Greenspan wakes up in the morning and decides to increase the monetary base.  To do this, the Fed will perform an open market operation.  Which one?  To increase the money supply, the fed will buy $100 worth of US government bonds from my bank. Note that this increases the monetary base from $100 to $200.

Because this $100 is not the result of a customer deposit, it is completely excess reserves for the bank.  So, assume that the bank lends the $100 to me.  I now have $100 in my pocket.  In order to make it easier on economists, I deposit my new $100 in the bank.  The bank is required to hold $10 of that deposit and they loan the remaining $90 to someone else.  This will increase M1 from $1,000 to $1,190 ($1,000 from the original MB + $100 in added DD + $90 cash lent to the next guy).  

The following table will help us follow the money creation process.

	Currency
	DD
	M1
	Required Reserves
	Excess Reserves
	New

Loans

	$0
	$1,000
	$1,000
	$100
	$0
	$0

	$0
	$1,000
	$1,000
	$100
	$100 (Caused by open mkt op)
	$0

	$0
	$1,000
	$1,000
	$100
	$0
	$100

	$100
	$1,000
	$1,100
	$100
	$0
	$0

	$0
	$1,100
	$1,100
	$110
	$90
	$90

	$90
	$1,100
	$1,190
	$110
	$0
	$0

	$0
	$1,190
	$1,190
	$119
	$81
	$81

	$81
	$1,190
	$1,271
	$119
	$0
	$0

	$0
	$1,271
	$1,271
	$127.1
	$72.9
	$72.9

	$72.9
	$1,271
	$1,343.9
	$127.1
	$0
	$0

	In the long run…
	
	
	
	
	

	$0
	$2000
	$2000
	$200
	$0
	$0


Using a concept similar to the deposit multiplier, we could have saved ourselves a lot of trouble with these calculations. 

We can calculate the change in the money supply by using the money supply multiplier which is identical to the deposit multiplier:


Money Supply Multiplier = 1/mDD
So, our $100 increase in the monetary base results in the following:


(M1 = (MB * (1/mDD)


         = $100 * (1/0.10) = $1,000

